1a)
In a test of semantic similarity and at a target stimulus duration of D -10ms, which of the words ‘bird’ and ‘fish’ would be the most likely choice (give approximate %) in response to presentation of the target word ‘hen’?  Explain the answer with reference to figure 4.3 below.

1b)
In a test of semantic similarity and at a target stimulus duration of D -25ms, which of the words ‘bird’ and ‘fish’ would be the most likely choice (give approximate %) in response to presentation of the target word ‘hen’?  Explain the answer with reference to figure 4.3 below.
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Figure 4.3 Percentag
decisions made about *presence -absence
and *semantic similarity”, plotted against
the time duration for which the targ
stimulus was displayed. Values shown

of correct

are the means for 17 participants. *1" is
the time duration at which errors in
detecting *presence absence” were first
seen. The duration for which the target
stimulus was displayed was then
progressively reduced (e.g )~ 5 ms,

)10 ms and s0 on). *Presence
absence™” deciding whether a target wor
was or was not present before the

masking stimulus; semantic similarity”
deciding which of a pair of test words
‘matched the target word in meaning




